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Troms?or mations o¥ Grap\ns -

(&) X qoes nside a -ruv\c‘l'ion, 13 comes out. ‘36“?( )"a

Tn  +he {:'\rS‘l’ blank next o eac\w ‘Puncﬁon, wvite an

A & e c\«onse Leomn $(X) is in the x-coordinate .
Write a Y i—c -l-\ne c\r\anse is In the y-cwr&’mafe.
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_E?_ua'ﬁons in One Variable

f6O)=q(x
h() £ = h(x)96) < “3¢)
h(x)=0

For #|6-20, write the +wo ezuo.‘h'ons that must be solved .

3x =) - 3x .- /
18) e (2x-3)=e" (4 7)\)

1) (x-4) logo() = (x-4) 5 <

20) (x*-5)=(x*-5) x> <>

- -b + /bt ~tac
b +bOrc =0 — TOIT —
\ f(x)= -b- Jb -tac

Fc'w #21-22, wvite -H-.e_ +wo ezuod-uo\ns that must be Solvecl.

21) 2(x—3)2—5(x~3)+2 =0
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22.) loge(1§+3103e(x)+l:o <



